N—RIUXU

51wk

Oy—F4>7
TUAVES

ISVEVT
A

N

ECCENTRIC HEIGHT CYLINDERS No.E-332
e ~ ~ A\ Y
-~ -~ —
R/ \1 U9
SCM420 A HRC60 + 3
REUUE =)
11427-25003~25020 11427-25030~25050
11427-35003~35020 11427-35030~35050
AvAvAlAvavivARAVA )
3
|
D
oA ==
T
m o)
*C
oC
| b RiEES
F—5—No. No. wamIlk A B BOEEE C D(B) E F G H &8k | 5
26874 | 11427-25003 | M12 = 36 3 Y00 13 6 - 0.02 | 4,490
26875 | 11427-25004 | M12 = 36 ' NE 6 - - - 0.03 | 4,490
26876 | 11427-25005 | M12 = 36 5 %0 13 6 - 0.03 | 4,490
26877 | 11427-25006 | M12 = 36 6 2w 13 6 - - - 0.04 | 4,490
26878 | 11427-25007 | M12 = 36 7 Y000 13 6 - 0.05 | 3,740
26879 | 11427-25008 | M12 = 36 8  Spe: 13 6 - = - 0.05 | 3,740
26880 | 11427-25009 | M12 = 36 9 Y0 13 6 - 0.06 | 3,740
26881 | 11427-25010 | M12 = 36 = 10  Sg00 13 6 = - - 0.07 | 3,740
26882 | 11427-25020 | M12 : 36 = 20 = 945 13 6 - - - - 0.10 | 5,050
26883 | 11427-25030 | M12 = 36 = 30 303 13  M8X125 6 105 19 @ 13 012 | 5610
26884 | 11427-25040 | M12 = 36 = 40 94 ¢ 13  M8X125 6 105 19 . 13 024 | 5610
26885 | 11427-25050 | M12 @ 36 = 50 @ 30 13  M8x125 6 105 19 = 13 031 | 5610
26886 | 11427-35003 | M16 = 56 3 S 18 1 105 - - - - 0.05 | 4,860
26887 | 11427-35004 | M16 = 56 4 Y08 18 105 - - - 0.07 | 4,860
26888 | 11427-35005 | M16 = 56 5 %% 18 ¢ 105 - - - 0.09 | 4,860
26889 | 11427-35006 | M16 = 56 6 2w 18 105 - - - 0.11 | 4,860
26890 | 11427-35007 | M16 = 56 7 Y009 18 105 - - - 0.12 | 4,860
26891 | 11427-35008 | M16 = 56 8 S0 18 @ 105 - = - 0.14 | 4,860
26892 | 11427-35009 | M16 = 56 9 Y99 18 = 105 - - - 0.16 | 4,860
26893 | 1142735010 | M16 = 56 = 10 S840 18 = 105 - - - 0.17 | 4,860
26894 | 1142735020 | M16 = 56 = 20 S5 18 = 105 - - - - 035 | 5,800
26895 | 11427-35030 | M16 = 56 = 30 355 18  M8X1.25 105 18 26 - 17 0.48 | 6,730
26896 | 1142735040 | M16 = 56 = 40 S5 18  M8x1.25 105 18 26 17 065 | 7,110
26897 | 11427-35050 | M16 = 56 = 50 3o 18  M8X1.25 105 18 = 26 ' 17  0.83 | 7,670

http://www.nabeya.co.jp

BRI
/ T R



	F214J_0314

